



Effective January 1, 2022

	Fees
A. Transportation	
Moving oversize, but not overweight objects 16 feet wide or less	\$25.00
Moving oversize, but not overweight objects >16 feet wide (plus time and material)	\$35.00
Moving oversize and overweight objects less than 16 feet wide	\$25.00
Moving oversize and overweight objects 16 feet wide or wider (plus time and material)	\$35.00
Extended transportation	\$100.00
Annual mobile home (14 feet wide) – up to two (2) approved routes	\$100.00
Annual mobile home (16 feet wide) – one approved route only	\$100.00
House / structure move (plus time and material)	\$65.00
B. Sidewalks and Non Motorized Paths	
Commercial / public sidewalk and non motorized paths	\$500.00
Residential sidewalk with survey staking, 100 lineal feet or less*	\$165.00
Residential sidewalks, per foot survey staking charge for more than 100 lineal feet*	\$1.65
C. Driveways	
Residential driveway (asphalt, concrete, gravel, field entrance)	\$100.00
Residential concrete driveway with sidewalk staking*	\$165.00
Commercial driveway, shared driveway, private street entrance	\$500.00
Commercial driveway, each additional driveway	\$100.00
Additional commercial driveway improvements (ex. road widening, right and center turn lanes)	\$200.00
Temporary commercial construction driveway	\$300.00
D. Utilities	
Franchise Utilities, Telecommunications	
Underground mainline fiber, cable, conduit installation: 1,000 lineal feet	· · · · · · · · · · · · · · · · · · ·
more than 1,000 linea	
Wireless small cell tower facility on existing pole or support structure***	\$200.00
Wireless small cell tower facility on new pole or support structure***	\$300.00
Franchise Utilities, Gas and Electric	
Underground mainline (contiguous locations): 1,000 lineal feet or less	\$300.00
more than 1,000 linea	l feet** \$600.00
Public Municipal Utilities, Water Main, Sanitary Sewer, and Storm Sewer	
Underground pipe installation: 200 lineal feet or less & misc tie	· ·
per foot charge for more than 200 line	
Oversight fee required for large projects****	actual costs
Utility Roadway Crossings	
Open-cut method: multiple lanes or full roa	
less than two	· · · · · · · · · · · · · · · · · · ·
Bore & Jack or Directional Drilling: 4in. diameter or less pipe.	
greater than 4in. diameter pipe	
Aerial cable to existing poles	\$100.00
Utility poles and anchors (more than three, new installation)	\$150.00
Annual (Blanket) utility maintenance	\$200.00
Utility service taps (water, sewer, etc.), not crossing road	\$50.00

E. Soil Borings	
Per job minimum	\$50.00
Over 25 bores	\$100.00
G. Visual Inspection	
Springtime Hauling	\$250.00
H. Street signs	
Private street sign (provide and place including pole)	\$250.00
I. Miscellaneous	
Seismographic surveys (annual blanket fee)	\$300.00
Oversight fee****	actual costs
All permits not listed above	\$50.00

Notes:

- * These fees will be adjusted in line the rate awarded under sidewalk survey staking contract.
- A1:C64** In compliance with Michigan PA 283 of 1909, as amended, 224.19b Working in the right-of-way.
- *** In compliance with Michigan PA 365 of 2018, as amended, commonly referred to as Small Wireless Communication Deployment Act.
- **** Oversight fees based on customary hourly costs associated with extra inspections and/or unusual situations. These fees could also be associated with Township work orders created for large utility projects.



Kent County Soil Erosion and Sedimentation Control (Part 91 of Public Act 451)

EFFECTIVE JANUARY 1, 2022

	Commercial SESC Permit Fees				
	Review of Plans	Initial Permit Fee	Inspection Fees	<u>Total</u>	
Disturbed Area			(valid for 6-months)	ľ	
Less than 1 acre	\$40.00	\$50.00	\$240.00	\$330.00	
			(6-month minimum)		
			\$45.00 for first acre plus		
Disturbed Area			\$5.00 for each add. Acre	Fee	
1 - 10 acres	\$40.00/acre	\$75.00	(see enclosed fee table)	Varies	
			_		
			(6-month minimum)		
			\$90.00 plus \$2.00 per		
			acre over 10 acres		
Disturbed Area			(\$150.00/month max.)	Fee	
10.1 acres & up	\$35.00/acre	\$100.00	(see enclosed fee table)	Varies	
Commercial				Fee	
Permit Extension				Varies	
Commercial	\$1000/acre, minimum \$2000 deposit; *no bonds allowed*.				
Performance Deposit Accept company check, certified check, or approved bank letter of credit.					

- 1. Total permit fees due with application.
- 2. If construction or earth change is started without permit, fees are doubled.
- 3. If a violation of the Kent County Soil Erosion and Sedimentation Control Ordinance occurs that results in the permit being revoked, a new permit must be obtained and new fees paid.
- 4. Any earth change disturbance of 5 acres or more requires a NPDES permit from the Michigan Department of Environment, Great Lakes and Energy (EGLE



SOIL EROSION AND SEDIMENTATION CONTROL MONTHLY FEE TABLE

EFFECTIVE JANUARY 1, 2022

	TOTAL FOR			ľ
ACRES	*MONTHLY FEE	MINIMUM	NEW PERMIT	
< 1 acre=	\$40/month	\$240	\$330	< 1 ac
1 acre =	\$45 x 6 months =	\$270	\$385	1 ac
2 acres =	\$50 x 6 months =	\$300	\$425	2 ac
3 acres =	\$55 x 6 months =	\$330	\$525	3 ac
4 acres =	\$60 x 6 months =	\$360	\$595	4 ac
5 acres =	\$65 x 6 months =	\$390	\$665	5 ac
6 acres =	\$70 x 6 months =	\$420	\$735	6 ac
7 acres =	\$75 x 6 months =	\$450	\$805	7 ac
8 acres =	\$80 x 6 months =	\$480	\$875	8 ac
9 acres =	\$85 x 6 months =	\$510	\$945	9 ac
10 acres =	\$90 x 6 months =	\$540	\$1,015	10 ac
11 acres =	\$92 x 6 months =	\$552	\$1,037	11 ac
12 acres =	\$94 x 6 months =	\$564	\$1,084	12 ac
13 acres =	\$96 x 6 months =	\$576	\$1,131	13 ac
14 acres =	\$98 x 6 months =	\$588	\$1,166	14 ac
15 acres =	\$100 x 6 months =	\$600	\$1,225	15 ac
16 acres =	\$102 x 6 months =	\$612	\$1,272	16 ac
17 acres =	\$104 x 6 months =	\$624	\$1,319	17 ac
18 acres =	\$106 x 6 months =	\$636	\$1,366	18 ac
19 acres =	\$108 x 6 months =	\$648	\$1,413	19 ac
20 acres =	\$110 x 6 months =	\$660	\$1,180	20 ac
21 acres =	\$112 x 6 months =	\$672	\$1,507	21 ac
22 acres =	\$114 x 6 months =	\$684	\$1,554	22 ac
23 acres =	\$116 x 6 months =	\$696	\$1,601	23 ac
24 acres =	\$118 x 6 months =	\$708	\$1,648	24 ac
25 acres =	\$120 x 6 months =	\$720	\$1,695	25 ac
26 acres =	\$122 x 6 months =	\$732	\$1,742	26 ac
27 acres =	\$124 x 6 months =	\$744	\$1,789	27 ac
28 acres =	\$126 x 6 months =	\$756	\$1,836	28 ac
29 acres =	\$128 x 6 months =	\$768	\$1,883	29 ac
30 acres =	\$130 x 6 months =	\$780	\$1,930	30 ac
31 acres =	\$132 x 6 months =	\$792	\$1,977	31 ac
32 acres =	\$134 x 6 months =	\$804	\$2,024	32 ac
33 acres =	\$136 x 6 months =	\$816	\$2,071	33 ac
34 acres =	\$138 x 6 months =	\$828	\$2,118	34 ac
35 acres =	\$140 x 6 months =	\$840	\$2,165	35 ac
36 acres =	\$142 x 6 months =	\$852	\$2,212	36 ac
37 acres =	\$144 x 6 months =	\$864	\$2,259	37 ac
38 acres =	\$146 x 6 months =	\$876	\$2,306	38 ac
39 acres =		\$888	\$2,353	39 ac
40+ acres =	\$150 x 6 months =	\$900	\$2,400	40+ac



Kent County Soil Erosion & Sedimentation Control

(Part 91 of Public Act 451)

Residential SESC Permit Fees

EFFECTIVE JANUARY 1, 2022

		Review of Plans	Initial Permit Fee	Inspection Fees	<u>Total</u>
Single Family				(valid for 12-months)	
Dwelling (SFD)		\$35.00	\$40.00	\$75.00	\$150.00
SFD Addition,					
Garage, Pole Barn,					
Landscape/Grading,				(valid for 6-months)	
Seawall, Deck, Pond			\$40.00	\$60.00	\$100.00
6-Month Residential				(valid for 6-months)	
Permit Extension				\$75.00	\$75.00
Large Single Family		\$50	\$100.00	\$100.00	\$250.00
(≥1 AC Of Disturbance)				(Valid for 12-months)	
******* \$2000 deposit; *no bonds allowed*.************					
Accept company check, certified check, or approved bank letter of credit.					
6- Month Large Residential				(Valid for 6-months)	
Permit Extension				\$100	\$100

- 1. Total permit fees due with application.
- 2. If construction or earth change is started without permit, fees are doubled.
- 3. If a violation of the Kent County Soil Erosion and Sedimentation Control Ordinance occurs that results in the permit being revoked, a new permit must be obtained and new fees paid.
- Any earth change disturbance of 5 acres or more requires a NPDES permit from the Michigan Department of Environment, Great Lakes and Energy (EGLE

<u>Silt fence detail</u>: (commonly used sediment control measure)

